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A. Put the wordr in order. (2 poinks)

1. the/will/next month/be/house/finished/new.

B. Write the correct form of the words in parentheririn 1& 2 and

appropriate tag question in 5. (1/5 point)

1. The new ship will be used tomorrow. It yesterday.(buy)
2. A lot of olive oil in Greek cooking. (use)
3. Our English teacher hardly let us skip the classes, ...................... ?

C. Choovre the best answer. (4 poinks)

1. Our new history book next week.
1) will publish 2) is going to publish 3) would publish 4) will be published

the letters yet.
1) has typed 2) has been typed 3) hasn’t been typed 4) hasn’t typed

3. There weren’t many people at the concert, .....................?
1) they were not 2) were they not 3) were there 4) they were

4. He had to cancel his weekend plan because of the of work at the office.
1) publicity 2) pressure 3) capacity 4) resource

5. You have to listen to different cassettes if you want to your listening
comprehension.
1) allow 2) brush 3) improve 4) borrow

6. Learning synonyms and antonyms is good way to develop your vocabulary. The underlined
word is a synonym of ...........c....... .
1) appreciate 2) boost 3) explain 4) define

7. Correct deep breathing our state of health, our mental condition, and the length of
our life.
1) counts 2) limits 3) enters 4) affects
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8. Nuclear energy seems to be a good
1) replacement 2) calculation 3) equipment 4) application

D. fill in the blanks with an appropriate word. (There is one entra word.)
(4 poinks)

sense-babysitting-possibility-score-provides-rather-whereby-developed-ethics

1. The first year of the course participants with an overall understanding of tourism in
general.

2. | have now started to do for a number of people.

3. There is a sense possessed by certain fishes, they can detect an object because of
its minute electrical activity.

Lo, than go straight on to university why not get some work experience first?

5. Ilike Pam - she has a really good of humor.

6. This insight into the of international trade comes from the Geneva-based World
Economic Forum, a research organization.

7. The final was Southampton two, Leeds United nil.

8. There was no of changing the voting procedure.

€. Fill in the blanks with a word of your own. (2 poinks)

1. A lack of success in doing something is referred to as ................... .

2. He is called Hafez because he learned the Holy Quran by .................. .

3. We have to speak.louder, because my grandmother is ...................... hearing.
4. The Red is the Iranian version of the Red Cross.

f. Cloze Pasrage (2/5 poink)

A lot of students are not ....(1)....aware of the initial difficulties of living in a new country.
When you live in a foreign country, you do not spend your time in cafes or looking at the artistic
or natural heritage. You have to make friends. And ....(2)....you have to speak the language. If
you don’t, you find yourself in need of help from others to do ....(3)....the simplest tasks-post a
letter, make a bank transfer, get a work permit, pay a bill etc. it can ....(4)....at times, especially
when you have to ....(5)....yourself in the simplest terms as you haven’t yet learned the language.
1. 1) actively 2) briefly 3) previously 4) truly

1) you do that 2) that to do 3) to do that 4) by doing that
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3. 1)as 2) even 3) very 4) although
4, 1) disturb 2) be disturbing 3) be disturbed 4) have disturbed
5. 1) keep 2) follow 3) produce 4) express

G . Read the following pasrage carefully and answer the quertions ars required.

(8 poinks)

Pasrage | (1 poinks)

If a person uses two languages in everyday life, he or she is said to be bilingual. Only a few people
whom we would call bilingual can speak, read, or write both languages equally well. We call those who
can do this “balanced bilinguals”. But most bilinguals have a preferred language, which they use most
of the time, and then a second language, the level and use of which will vary.considerably from one
person to another. Children raised bilingually from a very early age are most likely to have an equal
command of both.

There are bilingual communities in many parts of the world. Members of these communities use two
(or more) languages as a matter of course. South Africa, Belgium, Wales, Ireland, and Canada are some
examples of countries where such communities exist. (This does not mean that everyone living in these
countries is bilingual.) Bilingualism also occurs in other areas of the world where immigrant groups have
settled but have remained not fully absorbed into the society around them. They keep up many of their
own customs and continue to speak their own language at home. The following examples are taken
from a long list: Chinese and Italians in Australia; Turkish migrant workers in Germany; Asians in Great
Britain; and Spanish speakers.in the United States. In many cases, the bilinguals are not themselves
immigrants, but people whose parents, or even grandparents, moved to the country in question and
have continued to speak to their children in their own mother tongue.

1. According to the passage, a balanced bilingual is a person who........................ .

1) can use two languages in everyday life

2) has an equal command of two languages at the same time

3) can use a second language in a context where another language is spoken

4) has been raised bilingually and can read and write only his own language in two countries

2. According to the reading, children who were bilingual from a very early age ........................ .
1) are more likely to be dominant in one language

2) have an equal command of both cultures

3) can write both languages equally correct

4) most probably know both languages equally
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3. Which statement about the passage is NOT true?

1) South Africa, Belgium and Canada are some examples of bilingual countries.

2) Members of bilingual communities use two different languages as a matter of course.
3) There are bilingual communities all over the world.

4) Not everyone living in bilingual countries is bilingual.

4. Migrants speak their native language in order to ....................... .
1) preserve their customs

2) help their children do better at school

3) communicate more easily with their children

4) be absorbed in a foreign country more easily

Passage 2 (4 poinks)

There were two famous painters in Bengal. One was called Arbindo,.and the other, Naresh. As a trial
of skill, these two artists painted two pictures. The one which Arbindo painted, showed a bunch of
grapes and was so true to life that birds actually flew to it and pecked at it. Arbindo naturally felt
proud that his painting had deceived birds and was quite:sure that his rival would never be able to
defeat him. Arbindo then asked Naresh to draw aside the curtain which he thought was covering
Naresh’ painting; so that Arbindo might be able to see what its subject was. But the painting of
Naresh was the curtain itself! Arbindo had to admit that his rival had won the contest. It is true that
Arbindo had been able to deceive birds, but his rival had deceived an artist!

1. Naresh was a better painter because he could ............................ .
1) deceive birds 2) deceive Arbindo 3) paint birds 4) deceive all painters

2. Arbindo thought that ........c..cceuu.......... .
1) he would be defeated by Naresh 2) the painting of Naresh was covered by a curtain
3) he was the best painter in the world 4) birds were the best subject for painting

3. Naresh had ......................... .
1) a bunch of grapes behind the curtain 2) natural birds behind the curtain
3) painted nothing 4) nothing behind the curtain

4. Arbindo admitted that ............c.cccevvvvenc... .
1) Naresh was a better artist 2) grapes were not a good subject for painting
3) his paintings had not deceived birds 4) he could not see his rival’s painting
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